
Divide by Negative Powers of Ten (G)Find each quotient.
56 : 10⁻² = 28 : 10⁻² =
4 : 10⁻² = 35 : 10⁻³ =
7 : 10⁻¹ = 5 : 10⁻² =
73 : 10⁻² = 63 : 10⁻² =
45 : 10⁻³ = 64 : 10⁻² =
63 : 10⁻² = 27 : 10⁻³ =
32 : 10⁻¹ = 74 : 10⁻³ =
81 : 10⁻² = 11 : 10⁻¹ =
70 : 10⁻² = 49 : 10⁻³ =
25 : 10⁻¹ = 88 : 10⁻² =
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Divide by Negative Powers of Ten (G) AnswersFind each quotient.
56 : 10⁻² = 5.600 28 : 10⁻² = 2.800
4 : 10⁻² = 400 35 : 10⁻³ = 35.000
7 : 10⁻¹ = 70 5 : 10⁻² = 500
73 : 10⁻² = 7.300 63 : 10⁻² = 6.300
45 : 10⁻³ = 45.000 64 : 10⁻² = 6.400
63 : 10⁻² = 6.300 27 : 10⁻³ = 27.000
32 : 10⁻¹ = 320 74 : 10⁻³ = 74.000
81 : 10⁻² = 8.100 11 : 10⁻¹ = 110
70 : 10⁻² = 7.000 49 : 10⁻³ = 49.000
25 : 10⁻¹ = 250 88 : 10⁻² = 8.800
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